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PARTI:

i. MULTIPLE-CHOICE (Eg34£58) (30 points)

1. Consumer spending is spending by _households on final goods and services produced
A} domestic; domestically and abroad B} domestic and foreign; domestically and abroad
C) domestic; domestically D) domestic and foreign;, domestically

2. If the stock market booms and people feel wealthier, then the real interest rate  and investment
A) falls; declines B) falls; increases
C) rises; increases D) rises; declines

3. If a Taiwanese company exports $2 million of computers to Thailand and Taiwanese tourists spend $2 million at Thai beaches,

the Taiwanese merchandise trade halance , and the Taiwanese capital and financial account balance
A) rises; rises B) rises; is unchanged
C) is unchanged; is unchanged 3} 1s unchanged: rises

4. A developing country does not have enough taxes to cover its expenditures and is unable to borrow. This government would be
most likely to cover its deficit by '

A) purchasing government bonds from the public. B} sefling government bonds to the public.

C) selling newly issued government bonds directly to the central bank.

D) buying newly issued government bonds directly from the central bank.

Price LRAR SRAS

\D
Real GDP

Note: LRAS: long-run aggregate supply: SRAS: short-run aggregate supply; AD: aggregate demand)

5. Inthe above figure, which fiscal policy could help move the economy to long-run equilibrium GDP?
A) Decreasing government purchases and increasing taxes. 7
B} Increasing M2.
C) Increasing government purchases and decreasing taxes.

D) Both answer B and C are correct. I£) None of the above answers is correct.

6. Large differences in inflation rates among countries are almost always the result of large differences in
A) produetivity. B) real income growth.
C}) the growth rates of real money demand. Dj) the growth rates of nominal money supplies.

7. Which of the following macroeconomic variables would you exclude from an index of leading economic indicators?
A) Real money supply B) Unemployment rates
C) Inventory investment D) Residential investment

& Ifthe CPIis 95, this means that
A} prices are 95 percent lower than in the reference base period.
B} prices are 0.95 times lower than in the reference base period.

C) prices are 5 percent lower than in the reference base period.
D) real GDP will be less than nominal GDP.
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Part I1:
1. Multiple-choice questions (5 points each) (HH:EERE)

[. Suppose Eddie's demand curve for text messages is T=150-500Pt, where T stands for the
number of text messages and Pt represents the price of text messages. What is Eddie's
consumer surplus if Pt = $.10 per message?

AL S5

B. $10
C. 520
D. $50

2. A firm has increasing returns to scale if ¥
A. A propertional change in the use of all inputs produces a more than proportional charige in
output
B. A proportional change in the use of all inputs produces a less than proportional change in
output
C. A proportional change in the use of all inputs produces the same proportional change in
output
D. An increase in capital leads to an increase in output

3. Equilibrium in a repeated one-stage game
A. Requires cooperation
B. Does not require cooperation
C. Can only be found if the game is finite
D. Can only be found if the game is infinite

Y o0 -6P -
4. Suppose milk and cerea! are compliments and the demand for milk is @ ~ 40~ 65, ~ 27, ,

where ©n stands for millions of gallons of milk demanded, £ stands for the price of milk
and £ stands for the price of cereal. The supply of milk is On = 6F, -8 ,
5

where £ stands for millions of gallons of milk supplied. The demand and supply of cereal

d oo -sp _ = - . 2 N
are & =30-35 -8 gy 07 =5E-10 , respectively, where & stands for millions of
boxes of cereal demanded and ¢ stands for miflions of boxes of cereal supplied. Suppose
the government imposes a $2.00 per gallon tax on milk. In the new general equilibrium
A. The price of both milk and cereal increase
B. The price of milk increases and the price of cereal decreases

C. The price of milk decreases and the price of cereal increases
D). The price of both milk and cereal decrease
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